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(10 Points) Find the solution of the following differential equation.

(3x2 —2xy+ 2)dx+ (63/2 —x° +3)dy =0
. (10 Points) Find the general solution of
y'=3y'—4y=-8e" cos2x
. (10 Points) Given that V, (x) =1/x is a solution of

2x°y" +3xy'—y=0

Find the second linear independent solution.
. (10 Points) Find the particular solution of the following differential equation

x*y"=3xy'+4y=x"Inx, x>0,y,=x",y,=x’Inx

| 2 / 2=
. (10 Points) Given J—1/2(x): ;Cosx and Jl/Z(x): ;Smx,ﬁnd

J31 (x), J 31 (x),
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6. (10 Points) Find the Laplace transform of the following function

f(t) = £(t = 1)2 COS 27dr4.

7. (10 Points) Find the general solution of the following equation

i it Bl i 2e7"
i Y A

8. (10 Points) Find eigenvalues and eigenvectors of the matrix

-2 2 -3]
A= 2 1 -6
_—~1 -2 0_
9. (10 Points) Find the integral
3_
{Z 6.dz=?
2z —i

10. (10 Points) Find the solution of initial value problem

V' + 0%y = £(1) 1(0)=1,5(0)=0

where f (f ) is periodic with period 27 and

fle)=

1-tr 0<tr<l
-1+¢ 1<t<?2




